00?5.’ Below is a worked solution to a question
that I feel you could have gained more marks on ..

You can use these rules to change temperature from °C to °F
x2 +30
Approximate rule: | Multiple the °C temperature by 2 and then add 30
X 1-8 + 32
Exact rule: [ Multiple the °C temperature by 1.8 and then add 32

Amy uses the approximate rule to change 20°C to °F
Dan use the exact rule to change 20°C to °F

(a) Work out th@etween Amy'’s result and Dan’s

result
Amy 2630 Don x15+32  Defunce
A0 xQ =4O 20x1-8 = 36 ==’£
t 30 . (2x1g:36 * 3L —— (4
320 So 20x!-8 = 36) 63

Jade use the approximate rule to change a temperature from
°C to °F. The result is 110°F

(b) What °C temperature did Jade change to °F?
x2 + 30 =10 oheck JOx2+=80
— + 30
30
lto

o —_—
80 22 = 4O (3)

FACEPALI.!

so 1l0- 20 = 80
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NOW HAVE A GO AT THIS: Justneths

You can use these rules to change temperature from °C to °F

Approximate rule: | Multiple the °C temperature by 2 and then add 30

Exact rule: [ Multiple the °C temperature by 1.8 and then add 32

Amy uses the approximate rule to change 30°C to °F
Dan use the exact rule to change 30°C to °F

(a) Work out the difference between Amy’s result and Dan’s
result

(4)
Jade use the approximate rule to change a temperature from
°C to °F. The result is 100°F

(b) What °C temperature did Jade change to °F?

(3)
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